FEIX A U —IN— U DBl L FieR

sassssssaiy

I%265%11828 (B) 88 ()

RIFPER

(BFEch&z) (=7 B9515)
20%; 10%
AREFFRED 2 ¢} B)Fac XUFP 2 O plA==1e2
EED 2 o] SHEP 20%;
S]] 2 ¢} Brd =7B8% 2 0 b3V ] | Ficfes]
REBD 2 ¢} S5¢d BERk 2 0 Efgcp
30 WERP 2 0 SHD
BRLFFRP 2 ¢} EEP AFP 2 O IERATEER
REBD 2 0 SN 30
4 O =7 8¢ 2 0 E)pes
AREFFEP 2 ¢} REBD WERP 2 0 XUFP
(ENIbp=15) 40%
20 =789 2 O WERP
iVl 1p des 2 ¢} LHrEih (FEPa1E)
EED 2 0] £3hRcp 10%
BEHP 2 ¢} RESPH H)IIRP 2 0 I
El g e 2 ¢} SERAILERD 20%;
3OE el 2 O AZg
#1dpep 2 ¢} s e Eil=tes 2 0 B)lIRD
SlERE B 2 1 EHP BEP 2 ) ABED
40% @[] 2 0 fBIFd
SItERED 2 0 V1B den 30#;
Fr2PR15) B 2 1 EPD
10% EEDP 2 1 E]E7rs]
FERP 2 ¢} hEfch 40%
20 BEP 2 O P
BBED 2 ¢} ®ED E:NIEES))
FERP 2 ¢} Ed 10%
BED 2 ¢} BiEh EVIIERD 2 0 JbEERED
KHD 2 ¢} BagEd 20
30%; R o 2 0 YO EP
EFP 2 ¢} KHD HEIREP 2 0 25D
FERP 2 1 BED BED 2 0 BED
40% NI 2 O BREP
BEp 2 0 FERD 30%;
CEILIE P =) ey EP 2 0 HEIREP
10% BED 2 0 EVIIERD
SRR DD 2 ¢} IRIFD 40%
20%; R B 2 O BED
SR 2 ¢} SHED
SEFAREID 2 o] sTEac SRR
s 2 ¢} o iifas] BRLFFEP 2 0 ey B
Sl apl il fas) 2 ¢} plides) EED 2 0 Slcrsicth
30 =780 2 0 KEP
SEFAREID 2 ¢} TR EED 2 1 fHAIED
fHEIlED 2 ¢} EAEIEEE D RS
40% BREZFEEP 2 0 EFD
fHFIIES 2 0 SRR =780 2 0 EEDP
(P RIB) RS
1 0% AREFEEP 2 0 =783
=) 2 ¢} prfizles)
20 5~ 8IREE
KNED 2 ¢} Lz e KED 2 0 Bt ]
Bl 2 o] R ey B 2 0 EVRDI
=) 2 ¢} e R o 2 1 KED
g 2 ¢} IERAREBED ERIIE P 2 0 S|{EEaEb
30%; SRERES
KEP 2 ¢} [l EEDP 2 [0} EFP
[=T=Les) 2 1 SEfED
408
RNED 2 0 [oT=1s)




